Efficiency vs dr

0.05
<
9.045
30.04
c
(0]
'9.035
=
®0.03
0.025
0.02
0.015
0.01
0.005

1.9

-NewyeolTl
bar- Hasel-newgeom
uareNew_step2 ttbar-'phasel—new\geom
uareNew2 step2 ttpar- nasel»ne eom
uareNew3_step2_ttbar-phasel-newgeom

Ratio

o
©
a

1072

=
S
w

1
TP min AR

[ Efficiency vs dr (track,jet) |
.§0.01
0.009
E
Q.OOB
9.007
>
$9.006
2
35=6.005
@
0.004
0.003
0.002
0.001

Ratio

107 1072 107
AR(TP, jet)

Efficiency vs pu

5005 ———Mm8m—
& S SO SUNUE OO
O e A A AR A SR A

L S S
] o : : : : : :
Kt S Rl R S AR
= E : : : . . .
B S R S AL R
0.025f -+ beegicer] e feshonnindendinnd
0.02F -++bereefinengedeefe b Feees

............................

0.015f--+-i-e-fi-e-f
0.01

ooosg--w- -1y 1
i SUUE I IR FIOMELS i

X

.

Ratio

1.1

40 50 60 70 80 90 100
Pileup

1

N
(=]
w
o



	Contents
	Page 1


